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INTERMEDIATE EXAMINATION – 2023 (ANNUAL) 

I. Com. (Theory) 

Entrepreneurship (Elective).

le;%& 3 ?kaVs 15 feuV 

Time:- 3 hours 15 minute            
 
dqy iz’uksa dh la[;k % 70 $ 20 $ 6 ¾ 96      
Total no. of questions : 70 $ 20 $ 6 ¾ 96  

 

Instructions for the candidates :- 

1- ijh{kkFkhZ OMR mÙkj i=d ij viuk iz’u iqfLrdk Øekad ¼10 vadksa dk½ vo’; 

fy[ksaA                                                       

Candidate Must enter his/her Question Booklet Serial No. (10 

Digits) in the OMR Answer Sheet. 

2- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give answers in their own words as far 

as practicable. 

3- nkfguh vksj gkf’k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

4- iz'uksa  dks /;kuiwoZd i<+us ds fy, ijh{kkfFkZ;ksa dks 15 feuV dk vfrfjDr le; 

fn;k x;k gSA 

Subject Code :- 218 

iw.kkZad & 70 
Full Marks -70 
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15 minutes of extra time has been allotted for the candidates to 

read the questions carefully. 

5- ;g iz’u iqfLrdk nks [k.Mksa esa gS]  ,oa  

This question Booklet is divided into two sections: Section-A and 

Section-B. 

6- [k.M&v esa 70 oLrqfu"B iz’u gSa] ftuesa ls fdUgha 35 iz’uksa dk mÙkj nsuk 

vfuok;Z gSA 35 ls vf/kd iz’uksa ds mÙkj nsus ij izFke 35 mÙkjksa dk gh 

ewY;kadu gksxkA izR;sd iz’u ds fy, 1 vad fu/kkZfjr gSA lgh mÙkj nsus ds fy, 

miyC/k djk;s x;s OMR mÙkj i=d esa fn;s x;s lgh òÙk dks uhys@dkys ckWy 

isu ls izxk<+ djsaA fdlh Hkh izdkj ds âkbVuj@rjy inkFkZ@CysM@uk[kwu vkfn 

dk OMR mÙkj&iqfLrdk esa iz;ksx djuk euk gS] vU;Fkk ijh{kk ifj.kke vekU; 

gksxkA 

In Section-A, there are 70 objective type questions, out of which 

any 35 questions are to be answered. If more than 35 questions 

are answered, then only 35 will be evaluated. Each Question 

carries 1 mark. For answering these darken the circle with 

blue/black ball pen against the correct option on OMR answer 

sheet provided to you. Do not use Whitener/liquid/blade/nail etc. 

on OMR-Sheet, otherwise the result will be treated invalid. 

7- [k.M&c esa 20 y?kqmÙkjh; iz’u gSaA izR;sd ds fy, 2 vad fu/kkZfjr gSa] ftuesa ls 

fdUgha 10 iz’uksa dk mÙkj nsuk vfuok;Z gSA buds vfrfjDr] bl [k.M esa 6 nh?kZ 



3 
 

mÙkjh; iz’u fn;s x;s gSa] izR;sd iz’u ds fy, 5 vad fu/kkZfjr gS] ftuesa ls 

fdUgha 3 iz’uksa dk mÙkj nsuk vfuok;Z gSA 

In Section-B, there are 20 Short answer type questions, each 

carrying 2 marks, out of which any 10 questions are to be 

answered. Apart from these, there are 6 Long Answer Type 

questions, each carrying 5 marks, out of which any 3 questions are 

to be answered. 

8- fdlh izdkj ds bysDVªkWfud midj.k dk bLrseky iw.kZr;k oftZr gSA 

Use of any electronic appliances is strictly prohibited.

Section - A (Objective Type Questions) 

iz'u la[;k 1 ls 70  rd ds izR;sd iz’u ds lkFk pkj fodYi fn, x, gSa] ftuesa ls 

,d lgh gSA fdUgha 35 iz’uksa ds mÙkj vius }kjk pqus x, lgh fodYi dks OMR&’khV ij 

fpfUgr djsaA          35 x 1=35 

Question No.- 1 to 70 have four options, out of which only one is 

correct. Answer any 35 questions. You have to mark your selected option on 

the OMR-Sheet.         35 x 1 = 35 

1- vxz esa ls dkSu&lk volj cks/k dk rÙo gS \ 

 (A) le> dh 'kfDr    (B) ifjoÙkZu ij utj 

 (C) uoizoZruh; xq.k    (D) buesa ls lHkh 

 Which of the following is an element of sensing the opportunities ? 

 (A) Ability to perceive   (B) Insight into the change 

(C) Innovative quality   (D) All of these  
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2- D;k fdlh fuf’pr fu.kZ; ds iwoZ vkUrfjd lalk/kuks ij /;ku nsuk vko’;d gksrk gS\ 

 (A) gk¡] t#jh gSA    (B) ugha] t#jh ugha 

 (C) ckg~; lalk/kuksa ds fy,   (D) mi;qZDr] esa ls dksbZ ugha 

 Is it necessary to give due consideration on internal resources before 

initiating a particular decision ? 

 (A) Yes, It is necessary    

(B) No, not necessary 

 (C) Necessary for External resources 

 (D) None of the above 

3- m|eh gS % 

 (A) izcU/kd     (B) lapkyd 

 (C) deZpkjh     (D) tksf[ke ysus okyk 

 Entrepreneur is – 

 (A) Manager    (B) Director  

 (C) Employee    (D) Risk taker 

4- fuEu esa ls dkSu&lk volj dk izdkj gS \ 

 (A) i;kZoj.k esa fo|eku volj  (B) fufeZr volj 

 (C) mijksDr (A) vkSj (B) nksuksa  (D) mijksDr (A) vkSj (B) esa dksbZ ugha 

 Which of the following is a type of opportunities ? 

 (A) Existing opportunities in the Environment. 

 (B) Created opportunities    

 (C) Both (A) and (B) above 
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 (D) Neither (A) nor (B) above 

5- fuEu esa ls dkSu&lh O;olk; ls tqM+h ,d leL;k gS \ 

 (A) ykHk     (B) eqnzk 

 (C) foØh     (D) tksf[ke izcU/k 

 Which of the following problem is connected with Business ? 

 (A) Profit     (B) Money 

 (C) Sale     (D) Risk Management 

6- volj fdrus izdkj ds gkssrs gSa \ 

 (A) ,d     (B) nks 

 (C) rhu     (D) pkj 

 How many types of opportunities ? 

 (A) One     (B) Two 

 (C) Three     (D) Four 

7- vkfFkZd uhfr;k¡ fu/kkZfjr djrh gS & 

 (A) O;olk; dh ek=k   (B) O;olk; dh fn’kk 

 (C) O;olk; dh fn’kk ,oa ek=k  (D) buesa ls dksbZ ugha 

 Economic policies determine the – 

 (A) Volume of business    

(B) Direction of business 

 (C) Direction and Volume of business 

 (D) None of these 
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8- vkfFkZd lgk;rk gS & 

 (A) fj;k;r     (B) cV~Vk 

 (C) iqu% Hkqxrku    (D) buesa ls dksbZ ugha 

 Subsidy is – 

 (A) Concession    (B) Discount 

 (C) Repayment    (D) None of these 

9- Kku vtZu izfØ;k esa 'kkfey gksrk gS & 

 (A) lapkyu     (B) euksHkko 

 (C) vuqfØ;k     (D) lapkyu] euksHkko] ,oa vuqfØ;k 

 Learning Process involves – 

 (A) Drive     (B) Cue 

 (C) Response    (D) Drive, Cue and Response 

10- fuEu esa ls dkSu&lk i;kZoj.k ds izdkj gS \ 

 (A) vkUrfjd i;kZoj.k   (B) cká i;kZoj.k 

 (C) mijksDr (A) vkSj (B) nksuksa  (D) mijksDr esa u (A) vkSj u (B) 

 Which of the following is a type of environment ? 

 (A) Internal Environment  (B) External Environment 

 (C) Both (A) and (B) above  (D) Neither (A) nor (B) above 

11- fuEu esa ls dkSu ek¡x iwokZuqeku dh fof/k ugha gS \  

 (A) losZ{k.k fof/k    (B) lkaf[;dh; fof/k 

 (C) ekxZn’kZu funs’kd fof/k   (D) mRiknu fof/k 

 Which of the following is not a method of demand forecasting ? 
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 (A) Survey method   (B) Statistical method 

 (C) Leading indicator method (D) Production method 

12- ek¡x iwokZuqeku dks fuEu esa ls fdl :Ik esa tkuk tkrk gS \ 

 (A) foi.ku     (B) cktkj ek¡x 

 (C) ek¡x ,oa iwfrZ    (D) mijksDr lHkh 

 Demand Forecasting is termed as what out of the following ? 

 (A) Marketing     (B) Market Demand 

 (C) Demand and supply  (D) All of the above 

13- vYidkyhu iwokZuqeku fdrus ekg dh vof/k dks 'kkfey djrk gS \ 

 (A) ckjg ekg     (B) pkSchl ekg 

 (C) vBkjg ekg    (D) N%rhl ekg 

 Short-term forecast involve a period of how many months ? 

 (A) 12 Months    (B) 24 Months 

 (C) 18 Months    (D) 36 Months 

14- fuEu esa ls dkSu&lk ?kVd cktkj ewY;kadu ij izHkko Mkyrk gS \ 

 (A) lw{e okrkoj.k    (B) mRiknu dh ykxr 

 (C) ek¡x     (D) buesa ls dksbZ ugha 

 Which of the following factors affects market assessment ? 

 (A) Micro Environment   (B) Production Cost 

 (C) Demand     (D) None of these 

15- cktkj ewY;kadu ds fy, fuEufyf[kr esa dkSu vko’;d gS \  

 (A) vkiwfrZ     (B) ek¡x 
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 (C) izfrLi/kkZ dh izd`fr   (D) mi;qZDr lHkh 

 Which of the following is necessary for market assessment ? 

 (A) Supply     (B) Demand 

 (C) Nature of Competition  (D) All of the above 

16- cktkj dh ek¡x dks tkuk tkrk gS & 

 (A) ek¡x dh Hkfo";ok.kh   (B) okLrfod ek¡x 

 (C) iwfrZ     (D) mijksDr esa ls dksbZ ugha 

 Market Demand is Known as – 

 (A) Demand forecasting  (B) Real Demand 

 (C) Supply     (D) None of the above 

17- m|eh dks fuEu esa ls dkSu&lk nkf;Ro iwjk djus dk mÙkjnkf;Ro gS \ 

 (A) lkafof/kd     (B) izcU/kdh; 

 (C) mijksDr esa ls u (A) vkSj u (B) (D) mijksDr (A) ,oa (B)nksuksa 

 Entrepreneur have the responsibility to meet which of the following 

obligation ? 

 (A) Statutory     

(B) Managerial 

 (C) Neither (A) Nor (B) of the above 

 (D) Both (A) and (B) of the above 

18- fuEu esa ls dkSu u;s m|e dh 'kq:vkr dh voLFkk ugha gS \ 

 (A) izkjfEHkd&iwoZ voLFkk   (B) izkjfEHkd voLFkk 

 (C) mRikn cktkj voLFkk   (D) ckn dh òf) voLFkk 
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 Which of the following is not a stage of starting of a new venture ? 

 (A) Pre-Start up stage   (B) start-up stage 

 (C) Product market stage  (D) Later growth stage 

19- fuEu esa ls dkSu u;s m|e dh 'kq:vkr ds fy, izkjafHkd iwoZ voLFkk esa 'kkfey ugha 

gS\ 

 (A) O;kolkf;d vo/kkj.kk dh igpku (B) foÙkh; fu;kstu 

 (C) mRikn cktkj v/;;u   (D) izkjfEHkd òf) voLFkk 

 Which of following is not included in pre-start up stage while starting of 

a new venture ? 

 (A) Identification of business concept 

 (B) Financial planning 

 (C) Product market study 

 (D) Early growth stage 

20- miØe dk pquko fuHkZj djrk gS 

 (A) ,dkdh O;kikj    (B) lkglh dk vf/kdkj 

 (C) lkglh dh Loa; dh ;ksX;krk  (D) buesa ls dksbZ ugha 

 Selection of an Enterprise depends on – 

 (A) Sole Trading    (B) Right of Entrepreneur 

 (C) Self Ability of Entrepreneur (D) None of these 

21- izkjfEHkd tk¡p ds fy, fdl igyw ;k fdu igyqvksa ij /;ku nsuk vko’;d gS \ 

 (A) ljdkjh izkFkfedrk ds vuq:i  (B) izoÙkZd ls laxfr 

 (C) fuos’k dh miyC/krk   (D) mi;qZDr lHkh 
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 Which aspect or aspects are to be kept in mind for preliminary 

Screening? 

 (A) Consistency with Government 

 (B) Compatibility with promoter 

 (C) Availibility of Input 

 (D) All of the above 

22- miØe dk pquko djrs le; /;ku nsus ;ksX; fcUnq gS & 

 (A) mRikn     (B) foi.ku 

 (C) iw¡th dh miyC/krk   (D) buesa ls dksbZ ugha 

 The point to be considered while selecting an enterprise is - 

 (A) Product     (B) Marketing 

 (C) Availability of Capital  (D) None of these 

23- fuEu esa ls dkSu&lh O;olk; ds foLrkj ls tqM+h leL;k ugha gS \ 

 (A) tksf[ke izcU/k    (B) ykHk fu;kstu ,oa O;; fu;a=.k 

 (C) ewY; uhfr    (D) ek¡x dh izo`fÙk 

 Which of the following is not a problem related to expansion of 

business ? 

 (A) Risk Management    

(B) Profit planning and Expense Control 

 (C) Price Policy 

 (D) Trend of Demand 
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24- lQy miØe dh vko’;d 'kÙkZ gS & 

 (A) lqifjHkkf"kr laLFkkxr y{;  (B) izHkkoiw.kZ fu;kstu 

 (C) (A) ,oa (B) nksuksa   (D) mi;qZDr essa u (A) vkSj u (B)  

 Requisites of successful Enterprise are – 

 (A) Well defined organizational goals 

 (B) Effective planning 

 (C) Both (A) and (B) 

 (D) Neither (A) nor (B) of above 

25- ,d lQy m|eh esa vo’; gh fuEu xq.k gksus pkfg, %& 

 (A) usr`Ro dk     (B) fu;U=.k dk 

 (C) uoizoÙkZu dk    (D) buesa ls lHkh 

 A Successful Entrepreneur must possess the quality of the following :- 

 (A) Leadership    (B) Control 

 (C) Innovation    (D) All of these 

26- fu;kstu gksrk gS & 

 (A) Hkwrdky ds fy,    (B) Hkfo"; ds fy,  

 (C) oÙkZeku ds fy,    (D) lHkh ds fy, 

 Planning is for – 

 (A) Past     (B) Future 

 (C) Present     (D) All 

27- fu;kstu gS & 

 (A) vko’;d     (B) vuko’;d 
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 (C) le; dh cckZnh    (D) /ku dh cckZnh 

 Planning is – 

 (A) Necessary    (B) Unnecessary 

 (C) Wastage of time   (D) Wastage of money 

28- O;olk; fu;kstu dk izeq[k egÙo gS %&  

 (A) fuos’kdÙkkZvksa dks vkdf"kZr djus esa (B) fn’kk&funsZ’ku esa 

 (C) mÙkksyu 'kfDr iznku djus esa  (D) mi;qZDr lHkh 

 The main importance of business planning is – 

 (A) In attracting investors  (B) In providing guidelines 

 (C) In providing leverage  (D) All of the above. 

29- ,d vPNh ;kstuk gksrh gS & 

 (A) [kphZyh     (B) le; ysus okyh 

 (C) ykspiw.kZ      (D) ladh.kZ 

 A good plan is – 

 (A) Expensive    (B) Time Consuming 

 (C) Flexible     (D) Rigid 

30- O;olk; fu;kstu ds eq[; vo;o gS & 

 (A) O;olk; dk o.kZu   (B) vf/k’kklh lkjka’k 

 (C) (A) vkSj (B) nksuksa   (D) u (A) vkSj u (B)  

 The main Components of business planning are – 

 (A) Business description  (B) Executive Summary 

 (C) Both (A) and (B)   (D) Neither (A) nor (B) 
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31- vk/kqfudhdj.k lq/kkjrk gS & 

 (A) mRiknksa dks    (B) mRiknu dks 

 (C) izfØ;kvksa dks    (D) {kerk dks 

 Modernisation improves : 

 (A) Products    (B) Production 

 (C) Processes    (D) Capacity 

32- ifjek.kuh; ifj;kstukvksa ls fuEufyf[kr esa ls dkSu lEcfU/kr ugha gS \ 

 (A) fctyh mRiknu    (B) [kfut mRiknu 

 (C) ifjokj dY;k.k    (D) tykiwfrZ 

 Which of the following is not connected with quantifiable projects ? 

 (A) Power generation   (B) Mineral production 

 (C) Family welfare   (D) Water supply 

33- ifj;kstuk fuEu ls lEcfU/kr ugha gksrh &  

 (A) uoizoÙkZu     (B) dYiuk 'kfDr 

 (C) tksf[ke     (D) l`turk 

 Project is not concerned with the following – 

 (A) Innovation     (B) Vision 

 (C) Risk     (D) Creativity 

34- ifj;kstuk igpku esa vko’;drk gksrh gS & 

 (A) vuqHko     (B) efLr"d dk mi;ksx 

 (C) vuqHko ,oa efLr"d dk mi;ksx nksuksa (D) buesa ls dksbZ ugha 
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 In Project identification is needed -  

 (A) Experience     

(B) Use of mind 

 (C) Both Experience and use of mind 

 (D) None of these 

35- ifj;kstuk izfrosnu lkjka’k gS & 

 (A) rF;ksa dk     (B) lwpukvksa dk 

 (C) fo’ys"k.k dk    (D) ;s lHkh 

 Project report is a summary of -  

 (A) Facts     (B) Informations 

 (C) Analysis    (D) All of these 

36- Hkkjr esa baVjusV dc izkjEHk gqvk Fkk \ 

 (A) 1977     (B) 1987 

 (C) 1997     (D) 1995 

 When was Internet started in India ? 

 (A) 1977     (B) 1987 

 (C) 1997     (D) 1995  

37- bZ&esy ds pj.k gSa % 

 (A) nks      (B) pkj 

 (C) N%      (D) vkB 

 Steps of E-mail are :- 

 (A) Two     (B) Four 
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 (C) Six     (D) Eight 

38- cU/kd Hk.Mkjx`g fLFkr gksrs gSa %& 

 (A) gokbZ vM~Mk ij    (B) cl LVS.M ij 

 (C) cUnjxkg ij    (D) jsyos LVs’ku ij 

 Mortgage storage are situated at - 

 (A) Air Port     (B) Bus Stand 

 (C) Port     (D) Railway Station 

39- HkaMkj&xg̀ dk ekfyd gksrk gS % 

 (A) ,dkdh O;fDr    (B) QeZ 

 (C) dEiuh     (D) mijksDr lHkh 

 The owner of the storehouse is : 

 (A) Individual     (B) Firm 

 (C) Company    (D) All the above 

40- fuEu esa ls dkSu&lk ifjogu dk ek/;e ugha gS \ 

 (A) jsy     (B) lM+d 

 (C) ok;q     (D) ikbiykbu 

 Which of the following is not a means of transport ? 

 (A) Rail     (B) Road 

 (C) Air     (D) Pipeline 

41- ikuh ds tgkt dks ck¡Vk tk ldrk gS % 

 (A) ykbuj     (B) VªEil 

 (C) mijksDr (A) ,oa (B) nksukssa  (D) mijksDr u (A) vkSj u (B) 
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 Ships may be divided into : 

 (A) Liner     (B) Trumps 

 (C) Both (A) and (B) above  (D) Neither (A) nor (B) above 

42- Hkkjr esa bZ&fctuSl dk Hkfo"; gS % 

 (A) mTToy     (B) vU/kdkj esa 

 (C) lkekU;     (D) buesa ls dksbZ ugha 

 Future of e-business in India is : 

 (A) Bright     (B) In Dark  

 (C) Normal     (D) None of these 

43- bZ&fctuSl esa mi;ksx gksrk gS % 

 (A) dEI;wVj      (B) b.VjusV 

 (C) dEI;wVj rFkk b.VjusV nksuksa  (D) buesa ls dksbZ ugha 

 Used in E-business is : 

 (A) Computer    (B) Internet 

 (C) Computer and Internet Both (D) None of these 

44- bZ&dkWelZ@fctuSl us O;olk; dk {ks= dj fn;k gS % 

 (A) LFkkuh;     (B) jk"Vªh; 

 (C) vUrjkZ"Vªh;    (D) {ks=h; 

 E-commerce/business has made the scope of business : 

 (A) Local     (B) National  

 (C) International    (D) Regional 
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45- Hkkjr tSls fodkl’khy ns’k esa lkekftd mÙkjnkf;Ro gS % 

 (A) vko’;d     (B) vuko’;d 

 (C) le; dh cckZnh    (D) buesa ls dksbZ ugha 

 In a developing country like India social responsibility is : 

 (A) Necessary     (B) Unnecessary 

 (C) Wastage of Time   (D) None of these 

46- lkekftd nkf;Ro izfØ;k gS % 

 (A) bdgjh&izfØ;k    (B) nksgjh&izfØ;k 

 (C) rhu rjg dh izfØ;k   (D) buesa ls dksbZ ugha 

 Social responsibility process is :-  

 (A) one-way Process   (B) Two-way Process 

 (C) Three-way Process  (D) None of these 

47- lkekftd mÙkjnkf;Ro dh Hkkouk 'kks"k.k djrh gS % 

 (A) miHkksDrkvksa dk    (B) fofu;ksDrkvksa dk 

 (C) iwfrZdrkZvksa dk    (D) buesa ls fdlh dk ugha 

 The spirit of social responsibility exploits : 

 (A) Consumers    (B) Investors 

 (C) Suppliers    (D) None of these 

48- uSfrdrk egRoiw.kZ gS % 

 (A) mPp Lrjh; izcU/k ds fy,  (B) e/; Lrjh; izcU/k ds fy,  

 (C) xSj izcU/kdh; deZpkfj;ksa ds fy, (D) lHkh ds fy, 
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 Ethics is important for : 

 (A) Top management   (B) Middle-level management 

 (C) Non-managerial employees (D) All of them 

49- ,d futh dEiuh O;olk; izkjEHk dj ldrh gS %  

 (A) fdlh Hkh le;     

(B) lekesyu dk izek.k&i= izkIr djus ds i'pkr~ 

 (C) O;kikj izkjEHk djus dk izek.k&i= izkIr gksus ds ckn 

 (D) buesa ls dksbZ ugha 

 A private company can commence business : 

 (A) At any time    

 (B) After obtaining the certificate of Incorporation 

 (C) After obtaining the certificate of commencement of Business 

 (D) None of these 

50- ,d la;qDr iw¡th okyh lkoZtfud dEiuh dk fuekZ.k ugha gks ldrk gS % 

 (A) fcuk izfooj.k ds    (B) fcuk vUrfuZ;e ds 

 (C) fcuk lhekfu;e ds   (D) buesa ls lHkh 

 A Joint stock public company can not be formed :- 

 (A) Without Prospectus  (B) Without Articles 

 (C) Without Memorandum  (D) All of these 

51- lerk va’k/kkfj;ksa dks lk/kkj.kr;k % 

 (A) oksV nsus dk vf/kdkj ugha gksrk (B) oksV nsus dk lhfer vf/kdkj gksrk gS 

 (C) oksV nsus dk iw.kZ vf/kdkj gksrk gS (D) buesa ls dksbZ ugha 
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 Equity Shareholders ordinarily have : 

 (A) No voting right   (B) Limited voting right 

 (C) Full voting right   (D) None of  these 

52- dEiuh ds va’k/kkjh gksrs gSa %  

 (A) Lokeh     (B) _.knkrk 

 (C) nsunkj     (D) buesa ls dksbZ ugha 

 Shareholders of a company are : 

 (A) Owners     (B) Creditors 

 (C) Debtors    (D) None of these 

53- va’kksa ds izdkj gksrs gSa % 

 (A) 4      (B) 3 

 (C) 2      (D) 5 

 The kinds of Shares are :- 

 (A) 4      (B) 3 

 (C) 2      (D) 5 

54- FDI ls vk’k; gS %& 

 (A) fons’kh izR;{k fuos’k   (B) fu%’kqYd izR;{k fuos’k 

 (C) tu fu{ksi fuos’k   (D) buesa ls dksbZ ugha 

 FDI Means :- 

 (A) Foreign Direct Investment (B) Free Direct Investment 

 (C) Public Deposit Investment (D) None of these 
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55- lerk va’k/kkfj;ksa dks D;k dgk tkrk gS \ 

 (A) dEiuh ds Lokeh    (B) dEiuh ds lk>snkj 

 (C) dEiuh ds laj{kd   (D) dEiuh ds izcU/kd 

 What are the Equity Shareholders called ? 

 (A) Owners of the company  (B) Partners of the company 

 (C) Patron of the company  (D) Managers of the company 

56- y?kq Lrjh; m|ksxksa ¼SSI½ esa fofu;ksx lhek gS %&  

 (A) ,d djksM+ :Ik;s rd   (B) nks djksM+ :Ik;s rd 

 (C) rhu djksM+ :i;s rd   (D) nl djksM+ :Ik;s rd 

 The investment Limit of SSI are upto : 

 (A) One Crore Rupees   (B) Two Crore Rupees  

 (C) Three Crore Rupees  (D) Ten Crore Rupees  

57- NksVs O;olk;] iSnk djus esa lgk;d gS %& 

 (A) vf/kd jkstxkj    (B) vkfFkZd etcwrh 

 (C) mijksDr nksuksa    (D) Hkz"Vkpkj 

 Small business are helpful to generate :- 

 (A) More employment   (B) Economic Strength 

 (C) Both of the above   (D) Corruption 

58- Fkksd O;kikjh eky csprs gSa %& 

 (A) lh/ks miHkksDrkvksa dks   (B) QqVdj O;kikfj;ksa dks 

 (C) miHkksDrkvksa dks Mkd ds }kjk  (D) buesa ls dksbZ ugha 
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 Wholesalers sell goods :- 

 (A) Directly to consumers  (B) To Retailers  

 (C) To consumers through Post (D) None of these 

59- ewY; ds mrkj&p<+ko dks fu;fU=r djrk gS %& 

 (A) Fkksd O;kikjh    (B) QqVdj O;kikjh 

 (C) fuekZrk     (D) buesa ls dksbZ ugha 

 Price Fluctuations are controlled by :- 

 (A) Wholesalers    (B) Retailers 

 (C) Manufacturer    (D) None of these 

60- cgqla[;d nqdkuksa ij oLrqvksa dh xq.koÙkk gksrh gS %& 

 (A) ?kfV;k     (B) cf<+;k 

 (C) lkekU;     (D) buesa ls dksbZ ugha 

 The quality of goods on multiple shops is :- 

 (A) Inferior     (B) Superior 

 (C) Normal     (D) None of these 

61- lqij cktkj mnkgj.k gS %& 

 (A) foHkkxh; Hk.Mkjksa ds   (B) Mkd }kjk O;kikj 

 (C) cgqla[;d nqdkuksa ds   (D) buesa ls dksbZ ugha 

 Super Bazars are examples of :- 

 (A) Departmental stores  (B) Mail order 

 (C) Multiple Shops   (D) None of these 

 



22 
 

62- Hkkjr dk usiky ds e/; gksus okyk O;kikj dgykrk gS %& 

 (A) ns’kh O;kikj    (B) fons’kh O;kikj 

 (C) LFkkuh; O;kikj    (D) buesa ls dksbZ ugha 

 The trade between India and Nepal is called :- 

 (A) Home Trade    (B) Foreign Trade 

 (C) Local Trade    (D) None of these 

63- b.MS.V gksrk gS % 

 (A) fyf[kr      (B) ekSf[kd 

 (C) fyf[kr rFkk ekSf[kd nksuksa  (D) buesa ls dksbZ ugha 

 Indent is :-  

 (A) Written     (B) Verbal 

 (C) Written and Verbal both  (D) None of these

64- tc vk;kr] fu;kZr dh rqyuk esa vf/kd gksxk rks O;kikj lUrqyu %& 

 (A) vuqdwy gksxk    (B) izfrdwy gksxk 

 (C) lkekU; gksxk    (D) buesa ls dksbZ ugha 

 When import exceeds the export than balance of trade will be ;- 

 (A) Favourable    (B) unfavourable 

 (C) Normal     (D) None of these 

65- fu;kZr izfØ;k vkjEHk gksrh gS %& 

 (A) tgkth fcYVh ls    (B) b.MS.V ls 

 (C) pkVZj ikVhZ ls    (D) buesa ls dksbZ ugha 
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 Export Process starts from :- 

 (A) Bill of Landing   (B) Indent  

 (C) Charter Party    (D) None of these 

66- izfr bdkbZ de ykHk dekrk gS %& 

 (A) Fkksd O;kikjh    (B) mRiknd 

 (C) QqVdj O;kikjh    (D) buesa ls dksbZ ugha 

 Less Profit Per unit is earned by :- 

 (A) Wholesaler    (B) Producer 

 (C) Retailer     (D) None of these 

67- ;k=k djrs le; vius lkFk j[kuk lqfo/kktud gS % 

 (A) okgd psd    (B) js[kkafdr psd 

 (C) cSad Mªk¶V    (D) ;k=h psd 

 While travelling, it is convenient to carry :- 

 (A) Bearer Cheque   (B) Crossed Cheque 

 (C) Bank Draft    (D) Traveller’s Cheque 

68- ,d ljdkjh dEiuh og gS] ftlds vUrxZr ljdkj dh pqdrk iw¡th blls de ugha 

gksuh pkfg, %& 

 (A) 50%     (B) 51% 

 (C) 40%     (D) 26% 

 A Government company is that whose paid-up capital of Govt. should 

not decreased from this :- 

 (A) 50%     (B) 51% 
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 (C) 40%     (D) 26% 

69- lgdkjh lfefr vf/kfu;e ikfjr gqvk Fkk %& 

 (A) 1912     (B) 1922 

 (C) 1932     (D) 1950 

 Co-operative society Laws was passed in :- 

 (A) 1912     (B) 1922 

 (C) 1932     (D) 1950 

70- lk>snkjh lays[k ds vHkko esa lk>snkjksa ds vf/kdkj ,oa drZO; fu/kkZfjr gksrs gSa %& 

 (A) lk>snkjksa ds }kjk   (B) U;k;ky; ds }kjk 

 (C) lk>snkjh vf/kfu;e ds vuqlkj  (D) vkilh lgefr ls 

 In the absence of Partnership deed the duties and rights of Partners 

are determined by :- 

 (A) Partners    (B) Court 

 (C) Under Partnership Act  (D) Mutual consent  

Section-B

Short Answer Type Questions

iz’u la[;k 1 ls 20 rd y?kq mÙkjh; gSaA buesa ls fdUgha 10 iz’uksa ds mÙkj nsaA izR;sd ds 

fy, 2 vad fu/kkZfjr gSaA        (10x2=20) 

Question no. 1 to 20 are Short Answer Type. Answer any 10 questions. 

Each question carries 2 marks.      (10x2=20) 

1- volj ds fofHkUu izdkj D;k gS \      2 

What are the various kinds of opportunities ? 
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2- i;kZoj.k dk D;k egRo gS \       2 

What is the importance of environment ? 

3- cktkj ewY;kadu dh ifjHkk"kk nhft,A      2 

Define market assessment. 

4- Ckktkj O;ogk;Zrk D;k gS \       2 

What is market feasibility ? 

5- O;kikj dk izorZu D;k gS \       2 

What is promotion of business ? 

6- lkoZtfud dEiuh D;k gS \       2 

What is Public company ?    

7- ,d u;s O;kolkf;d laxBu ds izkjEHk dks izHkkfor djus okys fdUgha pkj ?kVdksa 

ds uke crkb,A         2 

Name any Four Factors affecting the starting of a new business 

enterprise. 

8- lkoZtfud {ks= ls D;k vk’k; gS \      2 

What is meant by Public Sector ? 

9- ljdkjh dEiuh ds ykHkksa dks fyf[k,A     2 

Write the merits of a Government Company .    

10- Hkwe.Myh; miØe dh ifjHkk"kk nhft,A     2 

Define a global enterprise. 

11- ifj;kstuk pØ ds rRo D;k gSa \      2 

What are the elements of project cycle ? 



26 
 

12- lalk/kuksa ds fofHkUu izdkj D;k gS \      2 

What are the various kinds of resources ? 

13- dksfj;j lsok D;k gS \        2 

What is Courier Service ? 

14- Hk.Mkjxg̀ksa ds rhu izdkj crkb,A      2 

State three types of Warehouses. 

15- iSVsUV~l ,oa O;kikj fpà ds chp rqyuk dhft,A    2 

Compare patents and trade mark. 

16- bZ&dkWelZ ls D;k vk’k; gS \       2 

What is meant by E-Commerce ? 

17- i;kZoj.k laj{k.k D;k gS \       2 

What is environmental Protection ? 

18- O;kikj ds izorZu ds nks dfBukb;ksa dk o.kZu djsaA    2 

Describe two difficulties in promotion of business. 

19- m|ferk fodkl dk;ZØe D;k gS \      2 

What is EDP ? 

20- dks"k&izokg D;k gS \        2 

What is Fund-Flow ? 

Long Answer Type Questions

iz’u la[;k 21 ls 26 rd nh?kZ mÙkjh; gSaA buesa ls fdUgha 3 iz’uksa ds mÙkj nsaA izR;sd iz’u 

ds fy, 5 vad fu/kkZfjr gSaA        (3x5=15) 
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Question no. 21 to 26 are Long Answer Type. Answer any 3 questions. Each 

question carries 5 marks.       (3x5=15) 

21- ,d m|eh dh fo’ks"krkvksa dks le>kb,A      5 

Explain the Characteristics of an entrepreneur. 

22- le&foPNsn fcUnq dk fu/kkZj.k dSls fd;k tkrk gS \    5 

How break-even-point is determined ? 

23- m|eh iq¡th dh fo’ks"krkvksa dk o.kZu djsaA      5 

Describe the characteristics of Venture Capital. 

24- lgdkjh lfefr dks ifjHkkf"kr dhft,A bldh fo’ks"krkvksa dk o.kZu djsaA  5 

Define co-operative society. Explain its characteristics. 

25- ,d lQy miØe dh vko’;d 'kÙkksZa dh foospuk djsaA    5 

Discuss the requisites of a successful enterprise. 

26- Hkwe.Myh; miØe ds fdUgha ik¡p xq.kksa dk o.kZu dhft,A    5 

Explain any five merits of a Global Enterprise. 


